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QUESTION 1

Your campus network is rolling out a BYOD policy. Your design must ensure that guest users are restricted
from accessing internal network resources.

Which two actions would solve this problem? (Choose two.)

A. Guest users should be placed in an isolated guest routing instance.

B. Guest users should be placed in an isolated guest VLAN.

C. Guest users should be placed in a non-isolated guest routing instance.

D. Guest users should be placed in a non-isolated guest VLAN.

Correct Answer: AB

QUESTION 2

Which two statements are true about a service-centric data center model? (Choose two.)
A. A service-centric data center model pools compute resources.

B. A service-centric data center model pools storage resources.

C. A service-centric data center model does not pool storage resources.

D. A service-centric data center model does not pool compute resources.

Correct Answer:. AB

QUESTION 3

You are evaluating an existing network to determine requirements for a network upgrade. In this scenario, which
statement is true?

A. A network baseline identifies devices that do not have redundant components.
B. A network baseline identifies traffic growth patterns across network devices.
C. A network baseline identifies how many users are connected to the network.
D. A network baseline identifies the type and level of traffic load on the network.

Correct Answer: D

QUESTION 4
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You are designing a solution to allow secure communication over the public Internet for a corporate WAN

deployment. For business policy reasons, all branch-to-branch traffic must first pass through the corporate

headquarters.

Which solution will work in this scenario?
A. fill mesh IPsec VPN

B. hub-and-spoke GRE VPN

C. Layer 3 VPN

D. hub-and-spoke IPsec VPN

Correct Answer: D

QUESTION 5

What is the name of Juniper\\'s network management platform?
A. Junos

B. Junos Space

C. MX Series

D. Juniper Secure Analytics (JSA)

Correct Answer: B
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